L1OC 90 - CO012A

assembly
iInstructions

MAX XM 204 line




TIME SEQUENCE TO BE FOLLOWED:

1. STRUTS AND PLATFORMS 7. PARAPETS

2. BRIDGE 8. NOUGHTS AND CROSSES ACTIVITY PANEL
3. PE ARCHWAYS 9. BENCHES
4. CLIMBING BOARD 10. ROOFS
5. PE CURVED SLIDE 11. PUFF
6. TUBE SLIDE 12. UNDERGROUND LAYING/ANCHORAGE OF THE
STRUCTURE
Le misure scno espresse in cm. @@M%@%@
Colori & modelli rappresentati ﬂié'ﬁll'ﬁf! IO " istruzioni di montaggio
sono puramente indicativi LINEA MAX XM 204
firma esecutore : ‘%@ data : 17.06.2011 |™ pag.1




NOTA BENE: it is recommended to fix the bolts

definitively and only insert the

caps once the

Anrltji:qle fixing CODEN. NAME correct positioning of the elements has been
1 2 xpel1 Shaped PE nut protection cap verified.
2 2 xpe10 PE nut protection cap
3 4 xpel116 PE cap
4 4 - 1ISO7089 I8 washer
5 2 UNI7473 M8 self-locking nut
7 2 UNI4017 M8X155 HEX SCREW
NOTE: o
- The colours and models in \ N
|

the image are purely indicative.
- The platform can be in engineered
wood or wooden planking.

—

9
e

O

10
6}/

- -8
‘3/

-
TR ,—e

F)=djint= ’}, /L
@\f)

!

|
!
®®

Le misure scno espresse in cm.

Celori e modelli rappresentati
sona puramente indicativi

i

SR CI=ker
denominazione

efo cliente : istruzioni di mantaggio
montanti e pianali

firma esecutore : ‘%@ﬁ

data : 16.02.2011 . pag.1/1




231

horizontal
(- .

from h. 120 cm to 144 cm
" - M from h. 144 cm to 168 cm
. L ) * H
(]

from h. 168 cm to 192 cm

from h. 84 cm to 120 cm

36

from h. 144 cm to 192 cm

224 1

from h. 84 cm to 144 cm

Le misure del disegno sono espresse in-- CIM.

oL ZOB
Tolleranze generali applicate: denominazione
“Sezipnzfdiametip legrame inpregnako ¢ 05 [(m]
*Lunghezza legname impregrato 14 lung. totald)
“Lavpeazigni legrame inprgnato § 02 [em)

efo cliente:
“Compenentr in metalle 1 (mm)

*Companenti in zliri materilali plastici £ |.R (mn)

Istruzioni di montaggio ponte
assito Max [ Sultan

23.040/ nr.

firma esecutore;

Abfioni |

Pag.1




1. Control the exact internal distance between the tower
struts and the respective heights of the platforms.

platform h.

-

Talleranse generah applizals:

‘Lompnaeathin a5l )1 mmb

firma esecutare:

Le inisure del disegnu suno espresse in- CITIL

*hezianetdiometro kegnome mocegrato | GG (om!
‘lunghezza kgnome morecaa-n 19[lunn tkalel
'lavaramoni [*qrame mpiegRata | 2 Gemy

‘Cnmpnneatl lna th matedlall plastie 41 51~ m)

Altioni

denominazione
efo cliente:

SHOLZEOED
istruzioni di montagqio ponte
assito Max [ Sultan

dota: 930407 |0 Pag.2




Article num. [instruction02| CODE N. NAME
/Quantity
1 4 xls4 Shim
2 8 xpe10 PE nut protection cap
3 8 xpel116 PE cap
4 8 UNI704 M8x180 TEL SCREW
5 8 - 1S07089 I8 washer

1. Place the bridge shims (1) on the platforms of
both towers, in axis with the centre line of the

struts, inserting the fixing bolts as indicated in the

figure.

NOTE: colours and models represented
are purely indicative.

le misure del disegno sono espresse in Cm.

OV ©) Rk

Tolleranze qenerali applizats
"o zipme iz mebo legnam 2 imprzgnato 4 006 fom)
"Lungheiza legnam s impsgnato 1% 1g.tatel]

*Laworasioni hgname (mprogod e + 0.2 [eml
*Componcntiic nedlc 11 imml
*rompunzntiic altii malcrilali piastici 1.5 0mim)

denuminazione
efo cliente;

istruzioni di montaggio ponte

assito Max [ Sultan

firma esecutore:

,&. . = data:

23.04.07

r Pag.3




Article num. Quantity CODE N. NAME
1 2 xI36 fixing beam
2 8 xpel0 PE nut protection cap
3 16 xpe116 PE cap
1 16 ; 1ISO7089 @8 washer
5 8 M8x155 HEX SCREW
6 8 UNI7473 M8 self-locking nut
7 8 xpeli Shaped PE nut protection cap

1. Position the holes of the bridge beam (1) in axis with the holes of
the platform frame pre-drilled table, inserting the bolts required for

fixing as indicated in the figure.

2. Repeat the operation on the other side of the bridge.

M8x80 TEL screw

Le misure del disegno sone €spresse in CIm.

O 4, ST

lolkeranze qenarali applicaty
*Sesianefdiminetro keynime impregie o g 0.6 G i )
*lunghezza keqname impreqnate Tilumy miale) ‘.'!(J clienle:
*Luwarra 2lani lequame impregnato +0.2 [em)

*Componcnli in inctaliy £ 1 (min]
*lomponcnti 10 altn matenlal plastic + 1eIm—]

denominasione

istruzioni di montaggio ponte
assito Max / Sultan

firma esecutore:

Abtione = 17.06.11

nr.

Pag.4




NOTA BENE: it is recommended to fix the bolts definitively and only insert the caps once the
correct positioning of the elements has been verified.

1. Position the archway between the struts and fix it by inserting: 1 x M8 washer (3), 1 x M8x260
TORX screw (2), 1 x @25 mm. winged PE cap (1) into the upper part;

1 x PE nut protection cap (4), 1 x M8 washer (3),

1 x M8x260 TORX screw (2), 1 x PE cap (5) into the lower part.

N

v

N
]

Le misure scho espresse in cm.

2. Repeat the operation for the opposite
side. Fix the other archways.

ERL-ZECRG

istruzioni montaggio

denaminasione

Celori e maodelli rappresentati efo cliente : -
sona puramente indicativi entrata in Pe
. MAX-SULTAN-OXI-0ASIS
firma esecutore : % data : 03.03.2011 . pag. 1/1




NOTA BENE: it is recommended to fix the
bolts definitively and only insert the caps
once the correct positioning of the elements
has been verified.

1. Insert the (5) M8x70 threaded bars into the
bushes present on the (6) climbing board.

2. Attach the climbing board (6) by
introducing the threaded bars (5) into

the pre-drilled holes in the platform

frame; these were previously fixed by
inserting the PE nut protection cap (4),

M8 washer (3), M8 self-locking nut and

(2) and PE cap (1).

\ 1) 2 x PE cap

( ) \\ 2) 2 x M8 self-locking nuts
e { A 3) 2 x M8 washer
L B \ \,f-z/ \\ 4) 2 x PE nut protection cap
\\ \\ 5) 2 x M8x70 LG* threaded bar
* ) | 6) 2 x M8x50 AL* threaded bar
LG: Wood h\\ @ J 7) PE climbing board

*AL: Aluminium

Le misure scho espresse in cm. = 1e) | I %@%@

Colori ¢ modell rappresentati denominaxiont‘ istruzioni di montaggio

Sono puramente indicativi efo cliente : Pedana di risalita Pe

la pedana diricalita pud eseere da 84 o 144 em . i

Il pranale rappn:stn‘ratoémdlcatwojm Max l Sultan f Aladin l oxl
(!

firma esecutore : ) data: 17.06.2011 |"" pag.1




1. After having fixed the PE archway (2], place the body of the
curved slide (3) on the platform of the tower (1) and insert

the bolts necessary for fixing into the holes present on the

slide (3).

2. Check correct positioning, verticality and parallelism. Fix
the bolts definitively and position the caps.

3. Repeat the operation also on the other side of the

slide

Article Default/ NAME
num. Quantity
1 1 Aladin tower
2 1 Aladin PE archway
3 1 curved slide h.84
4 4 1S07089 8 washer
5 4 M8x180 TORX screw
6 4

PE cap

NOTE: COLOURS AND MODELS
REPRESENTED ARE PURELY
INDICATIVE

Lee imisure del disegno sono espresse in cm.

BOLZEOETG

folkeranz: qenereli spplicate

*Guzinnepdiaingtie leynatne impregmaln + 0.5 (cm)
'lungherza kgname impregnake 1%llung totakel
*Laword 2ioni legname impiggrato + 02 [<m)
*Compoeenli in meialke £ 1 D]

‘Componenti i altn matenlah plasner 15 immi

denominasione
clo clienle:

istruzioni di montaggio scivolo curvo

pe con entratina lina
ALADIN - MAX - SULTAN - OXI - OASIS

firma esecutore;

ﬂm data:

03.03.2011 | pag. 1/1




1) PE cap (6x)

2) PE nut protection cap (6x) (seping the oty 1o the ubs In correspondence with the
3) M8 WaSher (6X) ;?ilgi}:(tL?sfi:;]ett?:aatr;ol:a?ént bolts, as indicated in the figure.
4) M8X1 30 (6X) LG* TEL screw The following instructions are also valid for the tube bridge.
5) M6 3x100 TEFR screw (6x) AL*

NOTA BENE: it is recommended to fix
the bolts definitively and only insert the
caps once the correct positioning of the

* LG: wood
" AL: aluminium elements has been verified.

Le misure scno espresse in cm. @@M%@%@

tenominazione . T ;
Coleri e medelli rappresentati efo cliente : istruzioni di montagqgio
sona puramente indicativi scivolo tubo
4
. ) . ] nr.
firma esecutore ; ?z@ data: 17.06.2011 pag.1/1




NOTA BENE: it is recommended to fix
the bolts definitively and only insert
the caps once the correct positioning
of the elements has been verified.

1. Position the PE parapet between the
struts, resting the two lower fixing
wings on the platform and then fix
using:

4 x M8 washer (3)

4 x M8x80 TEL screw (2) WOOD

4 x M6 3x60 TEFR screw (2)
ALUMINIUM 4 x @25 winged PE cap

2. If necessary, repeat the operation on the other parapets.

Le misure scno espresse in cm.

SRZENEET

Celori e modelli rappresentati
sona puramente indicativi

i

denomina sione
efo cliente :

parapetto in Pe Max/Sultan/Oxi

istruzioni montaggio

firma esecutore : ‘%@ﬁ

data : 16.06.2011

nr.

pag. 1/1




1. Fix the panel in PE to the struts using the relevant bolts, as

indicated in the figure.

The instructions can be applied to all multifunction panels in PE; the

procedure does not change.

The lower part of the panel must be positioned at the samegheight

as the platform.

NOTA BENE: it is recommended to fix
the bolts definitively and only insert the
caps once the correct positioning of the
elements has been verified.

1) PE cap (6x)

2) PE nut protection cap (6x)

3) M8x130 (6x) LG* TEL screw

4) M6 3x100 TEFR screw (6x) AL*
)

5) M8 washer (6x)

* LG: wood
* AL: aluminium

Le misure sono espresse in cm.

EOZEIE

denominazione

istruzioni di montaggio

Colori e modelli rappresentati efo cliente :
sono puramente indicativi pannello multifunzione in pe
14
firma esecutore : %&ﬁ data: 17.06820171 |™ pag.1/1




1) PE cap (4x)

2) PE nut protection cap (4x)

3) M8 washer (4x)

4) M8x130 TEL screw (4x) LG*

5) M6 3x60 TEFR screw (4x) AL*
)

6) Assembled bench

AN
\/

* LG: wood
* AL: aluminium

NOTA BENE: it is
recommended to fix the
bolts definitively and only
insert the caps once the
correct positioning of the
elements has been verified.

Le misure scno espresse in cm.

SHLZETES

denomina sione

istruzioni di montaggio

Celori e modelli rappresentati efo cliente :
sono puramente indicativi panchina giochi
14
. . , ) nr.
firma esecutore : %@ data: 17.06.7011 pag.1f1




Article | Default/ | CODE N. NAME
num. Quantity
1 1 PE roof
2 4 xpel10 PE nut protection cap
3 4 xpel116 |PE cap
4 4 IS07089 8 washer
6 4 M8x80 TEL screw

NOTE:
The models represented are purely
indicative.
\ These instructions are applicable to
\' Max, Sultan and Aladin roofs.

1. Position the roof on top of the struts with the brackets positioned
as in figure A.

2. Insert the bolts necessary for fixing in sequence, as indicated in
figure B.

3. Repeat the operation on all 4 struts.

|
|
[T, |
|
|
|
st
T 1
.‘\
BOLT POSITION “,.
l g "“‘\-&_ _...4-‘"4’" A
Le misute del disegno sono espresse in. CMN %@” Ei)ﬂ—a[f@ugo O
Tall happlicate: i i . T .
S sionc im0 loabame nprcgnats 06 Lcm) denominazione istruzioni di mantaggio
"Lunghezza legname impregnata 1%]lung botalsl 3;0 cliente: . L.
“Lavaraziant kgname wnpregnake + 0.2 (cml tetto In pOilet”Ene
*Compunenliin melalle + 1 imm)
“Campanenti in altri materilah plastici | 1.5 /mm) Linea Max / Sultan l Aladin
firma esecutore: A/Ff};&ﬁr‘ data:  27.07.2010 ‘ nr. pag.1




60

3. Complete concrete casting as per
layout.

4. When the concrete has set, fill the
hole by compacting the infill material up
to the finished ground level.

1. Excavate a hole with diameter of 30 cm

and depth of 60 cm as per layout.

2. Cast a first layer of concrete with

thickness of 10 cm.

40

60

Le misure del disegno sono espresse in-~ CITL

LA

Tolleranre nenerali applicate:

denominazione

“sezlonefdlamerra leqhame Impeaato § 05 em) . M - A I =
*Lunghceza kognamoe impregnale 1% lung. totak:) 1 .
el oo Wl efo cliente: istruzioni di montaggio
*lavorazioni legname impregnato + 0.2 (em) =
*Compenentiin metalke £ 1 [mm) 1IN te rro PUff
“Compouenli inalli maleilsli plastivi £ 15 hnml

firma esecutore: AM data: 12.02.07 nr. pag.1




rubber safety
flooring

Concrete deck

Le misure scno espresse in cm.

SRZEEET

Celori e modelli rappresentati
sona puramente indicativi

i

denominazione
efo cliente :

Istruzioni montaggio
interro montanti

- L
firma esecutore : %@

data : 15.02.2011 nr.

pag. 1/1




1. Attach the brackets (1) by introducing the following
in sequence: PE nut protection cap (2), M8 washer (3),
M8x25 HEX screw(4), PE cap (5)

1. Excavate two holes with diameter of 30 cm and depth of 60 cm

NOTA BENE: it is recommended to fix
the bolts definitively and only insert the
caps once the correct positioning of the
elements has been verified.

e
=)
M

]

3. When the concrete has set, position the climbing board brackets in
the hole, checking the correct alignment of the lower part of the
climbing board with the finished ground level.

4. Complete concrete casting as per layout.

5. When the concrete has set, fill the hole by compacting the
infill material up to the finished ground level.

2. Cast a first layer of concrete with thickness of 10 cm. \
Le misure scno espresse in cm. =0 ng@ﬁ.@
tenominazione ] A .
Colori e modelli rappresentati efo cliente istruzioni di montaggio
sono puramente indicativi interro pedana di risalita Pe
1)
. ) . ] nr.
firma esecutore : ?z@ data : 15022011 pag.1




1. Excavate two holes with diameter of 30 cm and depth of 60 cm
<as per layout.

2. Cast a first layer of concrete with thickness of 10 cm.

Le misure del disegno sono espresse in CIM g:%@ﬁ;lrl zg:g’@—(jgs'{é}

Tolleranz= nenerali applicate: denominazicne

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem) . | . . e .
*Lunghcazd kgname impregnate 19 lung. totak:) EfO cliente; Ist[u2|0 ni d| montagg 1Q
*lavorazioni legname impregnato + 0.2 (em) - -

“Compenenti in meralke + 1 (mml interra scivolo tubo Pe

“Compouenli inalli maleilsli plastivi £ 15 hnml

firma asecutore: 74/&&,‘}, data: 07.02.07 nr. Pag. 1




20-35 cm

;

\\ |

| |
. - T AT
gl 3
[ .-‘{ .
i r
I \ ’ ;

The measurements vary on the basis of the entrance to the slide from
a minimum of 20 to a maximum of 35 cm.

Le misure del disegno sono espresse in

cm,

LA

Tolkeran=s nenerali applica be:

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalln maleilali plastivi £ 15 lnml

denominazione
efo cliente;

Istruzioni di montaggio
interro scivolo Tubo Pe

firma asecutore:

Abiori

data:

07.02.07 nr.

pag.?




3. Complete concrete casting as per layout.
4. When the concrete has set, fill the hole by compacting the infill material up to
the finished ground level.

60

L
3

Le misure del disegno sono espresse in - CITL

LA

Tolkeran=s nenerali applica be:

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalln maleilali plastivi £ 15 lnml

denominazione
efo cliente;

istruzioni di montaggio
interro scivalo tubo Pe

firma asecutore:

Abiori

data:

07.02.07

nr.

pag.1




1. Excavate a hole with diameter of 30 cm and depth of 60 cm

2. Cast a first layer of concrete with thickness of 10 cm.

AN
. . e
Le misure del disegno sono espresse in CIM %g’@,'l ;Ag:g*@fjg:?@x}
Tolleranz= nenerali applicate: denominazicne
"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem) . | . . e .
*Lunghcazd kgname impregnate 19 lung. totak:) EfO cliente; Ist[u2|0 ni d| montagg 1Q
*lavorazioni legname impregnato + 0.2 (em) - -
“Component] in metalle + 1 (mml interro scivolo curvo Pe

“Compouenli inalli maleilsli plastivi £ L5 hnml

firma asecutore: 74/5‘6{‘;’ data: 31.05.058 nr. Pag. 1




3. When the concrete has set, position the slide bracket in the
hole, checking the correct alignment of the lower part of the slide

with the finished ground level.

\
\

LA

Le miswre del disegno sono espresse in CM

denominazione

Tolkeran=s nenerali applica be:
"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalli maleilsli plastivi £ L5 hnmi

efo cliente;

data:

31.05.05

Istruzioni di montaggio
interro scivolo curvo Pe

nr. Pag. 2

firma asecutore:

Abtiers




AN

40

30

/ 4. Complete concrete
casting as per layout.

5. When the concrete
has set, fill the
excavation hole by
compacting the infill
material up to the
finished ground level.

Le miswre del disegno sono espresse in

LA

Tolkeran=s nenerali applica be:

"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)
*Lunghcszd kgname impreghale 190 lomg. tolab:)
*lavorazioni legname impregnato + 0.2 (em)
*Compenentiin metalke £ 1 [mm)

“Compouenli inalln maleilali plastivi £ 15 lmib

denominazione

efo cliente;

Istruzioni di montaggio
interro scivolo curvo Pe

firma asecutore:

Abtiers

data:

31.05.05

nr. Pag 3




1. Drill.

2. Clean the hole thoroughly using an air pump and small brushes.
3. Insert the anchor into the hole present on the bracket with the

aid of a hammer.

4. Tighten using dynamometric wrench.

rubber safety flooring

4 x M10x90 screw anchors

Le misure sono espresse in cm.

Colori e modelli rappresentati
sono puramente indicativi

SRILZHOER0)
denominazione

efo cliente : istruzioni di montaggio
ancoraqgio montanti con staffe

firma esecutore :

L

data : 14.02.2011 nr. paq.1




Article
num.

Quantity [CODE N. NAME

1. Position the climbing board on the support surface and mark
the position of the screw anchors.

Xpe10 PE nut protection cap 2. Drill the support surface and position the screw anchors.

xpel116 PE cap

3. Fix the angle brackets to the support surface using the

. PE climbing board relevant bolts, as indicated in the figure.

AW N =

N = N[ N

bracket

xfe265 59x59x35 stainless steel angle

M10 self-locking nut

@10 washer

~NOoH| o

N[ N| N

- M8x115 screw anchor

TE: the combination of colours and models
represented is purely indicative.

The climbing board can be at a height of 84-
144-192 cm.

Le misure del disegno sono espresse in CM

O LZE O

Tolleranre nenerali applicate:
"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)

denominazione . . e ]
istruzioni di montaggio

*Lunghecszd kyname impregnale 190 lung. tolak) Efo cliente; h

*lavorazioni legname impregnato + 0.2 (em) | ncoragglo Peda na

*Compenentiin metalic 1 [mm] - . - f

“Compenenli inalln maleilali plastivi £ 15 lnml dl rlsallta 1n Pe
firma esecutore: 74/5‘6{‘;’ data: 19.06.06 nr. pag. 1




P Article Quantity NAME

I 1 ‘\l — — num.

! _/“m 1 Tube slide anchorage bracket
™ PE nut protection cap

M10 self-locking screw anchor

10 washer

M10 self-locking nut

PE cap

O O B[] N
00| 00| 00| 00| ©of M|

S~
~
Sy
1':;
b
&
%

)
—n |
20-35cm. ————=

L
v

1. Adjust the bracket (1) to the necessary height.

2. Mark the position of the screw anchors on the ground.

3. Drill the support surface and position the screw anchors.

4. Fix the bracket to the support surface using the relevant bolts, as
indicated in the figure.

Le misure del disegno sono espresse in CIML %@LZ%@@B@

nglzrlzxnn::!E\Prnn:gcllllzgglawmqsm neaqnato 05 em) denominazione 1 1 H d h h
I H -
*Lunghcizd kgnamy impregnate 19 lung. totak) Efo cliente; IStrUZIOnl I montagg [o)

*lavorazioni legname impregnato + 0.2 (em)

“Componcat i et 31 (] ancoraggio scivolo tubo

“Compouenli inalln maleilali plastivi £ 15 lnml

firma esecutore: AM data: 12.02.07 nr. pag.1




Article num.| Quantity CODE N. NAME
1 1 xfe265 59x59x35 stainless steel angle bracket
2 2 xpe10 PE nut protection cap
3 2 xpel116 PE cap
4 1 M10 self-locking nut
5 1 M8x115 screw anchor
6 1 @10 washer

1. Position the slide on the support surface, marking the position of

the screw anchor.

2. Drill the support surface and position the screw anchor.

3. Fix the angle bracket to the support surface using the relevant

bolts, as indicated in the figure.

\x\\‘
\\\]/’I
—
N.B.
purely indicative.

The

The combination of colours and models represented is

slide can be at a height of 84-144-192 cm.

Le misure del disegno sono espresse in

cm

O] ZE RO

Tolleranre nenerali applicate:
"sezlonefdlametra leqrame Impoeaqnata 4 05 Lem)

denominazione

Abtiers

*Lunghezzd kgname impregnate 1% lung. o lak) Efo C“Cnte; iSt ruZioni di montaggio
*lavorazioni legname impregnato + 0.2 (em) - .
“Componca i metalie £ 1wl ancoraggio scivolo curve pe
“Compenenli inalln maleilali plastivi £ 15 lnml

firma esecutore: data:  16.02.2011 |m™ pag.1




